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46236 | = v v = x v (f1) =7 1,650 1,800 14950 [#£> 21  HEH (k) 1,100 1,300
20443 |\BEE (41) B <7 1,300 1,400 14951 |7 >2Y) H&H (F) 1,100 1,300
20442 | BE (F) B2 < 1,300 1,400 17429 | & ) X & R 1,000 1,200
20449 /Nit> o) (k1) B2 <7 1,300 1,400 17431 |7 ) 3 5 #RELE 1,000 1,200
29448 )it > 54 (4 “) Br<7 1,300 1,400 17430 | F 1 3 F 5% 1,000 1,200
16234 (DT IEIAH I F (%) =7 1,500 1,700 17432 | ) & F 5% 1,000 1,200
16235 |DIIAH I F (f1) =7 1,500 1,700 11539 |12 % A 2 fREE (K) 1,000 1,200
12468 |12 A 2 =7 1,500 1,700 11540 |12 % A 2 fRBE (/]V) 1,000 1,200
44038 | ALEHE  BRBE (KAL) 1,150 1,300 1541 [I2» A2 HH (KR) 1,000 1,200
44037 | ALEHE BRBE (FE) 1,150 1,300 11542 12 A2 FHH O)) 1,000 1,200
44040 | AL B DS (A 1,150 1,300 27863 |G ¥ EREE 1,700 1,800
44039 | LB B D (FE) 1,150 1,300 27864 |fr ke  ERFEE 1,700 1,800
43298 | L < 59 B (WD) 1,600 1,700 27865 |Gt HH 1,700 1,800
43301 | Ls (59 me (12132 4) 1,600 1,700 27866 |k1ke H T 1,700 1,800
43290 v L3 (35 BE (Wb ) 1,600 1,700 50508 |25 ¥ ) (k1) < 7 1,200 1,300
43302 |V L3 (59 BE (TIRZA) 1,600 1,700 50611 [ ¥ 9k E7 74 v 7 1,300 1,400
27273 |\ L4 R (F) 1,600 1,700 50502 |#2.5 ¥ 9 (F1)  ERER 1,100 1,200
27274 |\ x> L% fREL (AT) 1,600 1,700 50005 |#2 5 ¥ ) (k1) & 1,100 1,200
21275 |\ L 55 (F) 1,600 1,700 50510 %25 ¥ ) (%) < 7 1,200 1,300
27276 |\ L S (f1) 1,600 1,700 50513 |3 Y1) ET7H v 1,300 1,400
24000 | @5l #mBE (K) 1,150 1,450 50504 |%2 .5 ¥ 9 (%) BRBR 1,100 1,200
24001 |1@#% 51 fREL (V) 1,150 1,450 50507 |¥2.:5 ¥ ) (%) BB 1,100 1,200
24002 |la¥il BT (K) 1,150 1,450 50509 |#2.5 ¥ 0 () < 1,200 1,300
24003 |l@%il T ) 1,150 1,450 50512 [N (%) BTy 1,300 1,400
44902 | X7 R fmBE (F) 1,700 1,800 50503 |5 ¥ 9 (%) BREE 1,100 1,200
44903 |~7 % fREE (41) 1,700 1,800 50506 |55 9 (%) B S 1,100 1,200
44904 |7 R HE (F) 1,700 1,800 50544 | F R #5] ZAm (§) 3,700 4,300
44905 |7 R HFH (h1) 1,700 1,800 50536 |F A5l <7 (@A) 2,400 2,900
46231 | = v v = x v EL (F) 1,150 1,300 50538 |F A% 51 MW v 7 (&) 2,500 3,100
46232 | =~ v = x v EREE (4T) 1,150 1,300 50540 | F %51 Bk (G) 3,000 3,600
46233 | = v = x v HE (F) 1,150 1,300 50543 | F ¥ 5]1 AEHm (8) 3,400 3,800
46234 | =% v = x v  H D (1) 1,150 1,300 50535 | F B 51 77 v 7 (&) 1,900 2,300
27265 |—% %0t L (F) 1,700 1,800 50539 |F ¥ 51  Fek (BG) 2,000 2,500
27266 |—% %0t fREL (AL) 1,700 1,800 50542 |F R ¥ 5] Em (9) 1,800 1,900
27267 |—E&RIT HE (F) 1,700 1,800 50541 |F B ¥r5]1 hm (8) 1,200 1,350
27268 |—%Z %0t B E (AL) 1,700 1,800 50534 | F R ¥y 5]  frREE (&) 1,800 2,000
41495 %3817 o —n— B (7Y-) 1,600 1,700 50647 |F ¥ 51 < 7 (K1) 2,400 2,900
41496 %317 o — 3— e (EV7) 1,600 1,700 50550 |F B ¥ 51 < 7 (%) 2,400 2,900
41497 (W3l 7 u—n— BE (7-2) 1,600 1,700 50553 | F R %51 <=7 (F) 2,400 2,900
41498 (317 o—3— BE (KV)) 1,600 1,700 50546 | F B0 51 77 v 7 (A1) 1,900 2,300
40127 Ky Fldes mRBE (R) 1,600 1,700 50549 | F B0 51 77 v 7 (F%) 1,900 2,300
40128 ¥y F1iehc tRBE (8) 1,600 1,700 50552 |F B35 1 v 7 (F) 1,900 2,300
40129 (¥ 51iea B S (B) 1,600 1,700 50548 | F R %51 frRBR (F%) 1,800 2,000
40130 (¥ Flieae B E (@) 1,600 1,700 50545 | F R3] frRBR (KAL) 1,800 2,000
20438 |EE &Rl (F) 1,100 1,200 50551 |F R %51 frRBe (F) 1,800 2,000
20430 |EE & fREL (L) 1,100 1,200 28007 |BEE AR mE(E) 1,750 1,850
20440 | BEE Be5s (F) 1,100 1,200 28009 | BEEAaR HEF) 1,750 1,850
20441 \BEE 8255 (L) 1,100 1,200 280183 | BEE@aR <7 &) 2,150 2,250
29444 it o o) B wmEBE () 1,100 1,200 28015 | BEEaR MWy 7(H) 2,100 2,200
20445 )it oo ) B o trRBE (AL) 1,100 1,200 28008 | B ¥ Gk meL(FD) 1,750 1,850
20446 hitoo) BeHE () 1,100 1,200 28010 | BEEa R HEGD 1,750 1,850
204477 PNieoo ) @ e s (L) 1,100 1,200 28014 | BEEaR <7 GD 2,150 2,250
16230 [DITITA ) I F trEE (K) 1,000 1,200 28016 |BEEaR MW v 7Go) 2,100 2,200
16231 [DITITA I I F  trBE (V1V) 1,000 1,200 22882 | UM HE (X)) 1,500 1,800
16232 |DI1T1TA D I F 5 (K) 1,000 1,200 22881 |\ B (F) 1,500 1,800
16233 [DIIEIA ) XX BB ) 1,000 1,200 20001 | O <7 (%) 1,750 2,050
26332 | (1T A rRBE (F%) 1,000 1,200 22000 | O <7 (F) 1,750 2,050
26333 | D (1T A RrRBE (4T) 1,000 1,200 23669 |#H UM% T— b —mem () 2,900 3,400
20334 | DI T AW HD (FF) 1,000 1,200 23668 | a— b —mem (F) 2,900 3,400




HOR  RBE () ,500 1,800 Ik TR 675 1358 8,500

1
#HO e (F) 1,500) 1,800 Iz [Rit) 85 L3R 11,000
[FE 7 FH) 1,850 2,080 Ik TR 99 138 12,000
IS 7GR 1,850/ 2,080 IE w3 hid) 65158 11,000
IS BEE) 1,450/ 1,700 IE w391k IH6F L8| 14,000
IS BEGR) 1,450/ 1,700 IE w9 Yhid) 85158 16,000
[EF B 38K — L 1,200/ 1,450 IE w391k IH8%F 88| 19,500
EBTF SR 50F— L 2,000] 2,400 IE w9 hid) 95158 18000
FEF SR EBBL(E) 1,450 1,700 Ik 391z Ho5 8| 21,500
EH A REGH) 1450 1,700
EE LR MK 1,100] 1,350
BE SR AmON) 850 1.000
EFH AR Am(P) 1,400 1,700
ALK PFAEm 650] 800
EFHEHM EAm 7700 2.050
EHEK EAHLm 300 1,500

LR Eeim (F) J100] 2250

LR MEeim (A1) L1000 2,250

R <7 (F) 350 1,450

R <7 (f) ,350 1,450

it e (F) ,150 1,250

ER - BRBE (K1) 150 1,250

e Mo (F) ,100 2,250

e Eeim () L1000 2,250

it <7 (F) 350 1,450

e el (F) 150 1,250

A fRmE (FT) 150 1,250
CHLO <7 () ,5650|  1,800
CL <7 (F) ,5650|  1,800
Crh BE Ol J150) 1,300
CHOE HE (KR) 150 1,300
CoH )R wmee (D) 1500 1,300
CoH )R me (KR) 150/ 1,300
MR+ <7 (o) 5001 1,700
Mixa =7 (F)

IR+ BE ) ,000| 1,200
MR+ BE (X) ,000| 1,200
MR * 2 f&mee ) ,000] 1,200
MR * 2 f&meE (K) ,000] 1,200

1
1
2
2
1
1
1
1
2
2
1
it <7 (k1) 1,350 1,450
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

1
1
1
1
3
3
1
1
5
5
1
1
1
1
5
,500 1,700
0
0
0
0
3
1
0
3
1
0

BB N—X—w oKk ,300 1,350
BB N—sX—m g b 100 1,150
e NP A S SR ,000 1,050
BT (B9 NR—=—wa A b K ;300 1,350
L B9 N—sX—w o g p o 100 1,150
R B L N ,000 1,050




